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For a corpse in a bed, he is liable — 217 una N DN

OVERVIEW

The 71wn stated that if one carries out (to the 7"777) a corpse [in a bed] he is liable
for carrying out the corpse (as opposed to carrying out a live person). However "
Nvnw disputes this ruling and maintains that he is 719, since this is considered a
DAY 719°7% ARY 798711 Our nvoIn identifies the P"n of our mwn.
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It is the view of the >''9 that it is from this 71w» here that we always assume -
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That 777370 ' maintains that one is liable for a 3'"»35RwSn -
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For presumably the p''n of w'1 (in this 71wn), who holds him liable is 3" -
= 59199 939N N1 D192 19N NT 4DrybT NINN 9D

Just like that previous mwn regarding 912 198 511 912° 19K 737 (neither is capable of

doing the 719%%n by himself) -
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Where the ?'"'n of @''9 in that 71w is 9''9 as is evident in the X9%3, so presumably in
the following mwn (regarding nni nXkx17) the p"n of w1 is also *"A.

npoIn offers an alternate source that "1 maintains "¥Xwx¥n is 270;
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And the X"'2w= says we can bring a source that " maintains 3"9¥Xwn is 21 from

a previous ;TIwn which states -
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"' rules that even one who carries out items which serve 1"¥ he is also liable

! See (at length) the following w"1 7" 'o1n.
2 It would seem that NN cannot find a source in a 7IWw» or XN™12 in which it clearly states that "3 maintains
D"¥RWwN is 2.
3 Carrying out a n» is a 2"¥Xw 79%77 for he has no interest in having the n in the 7"77; he merely does not want the
nn inside the house. By a regular nxx17 (like the 2"7va giving something to the *1¥ in the 1"77), he wants the "1 to
have it
43,38, The mwn begins that by 213> 711 91> a1 he is Mws.
5 In that 71wn also the p"n is 2°nn by "R A1 °"X 77 and w"A is q0w.
® The X»3 there cites a three way np12nn in a Xn*12 regarding MRWYW 0°21w; "1 maintains they are always 21 even
by 912> 11 913° a1, while w"1 maintains that they are always M9 even by *"X 1"17; however it is *"1 who maintains like
the p"n that 12> 111 is 7w and by *"X 7N *"X 77 he is 2»n. The p"n of that mwn is >".
7 Presumably he has no need for the 1"y *wnwn outside for they are X372 MoX. He is merely ridding himself from
the 1"y (similar to N7 NR¥IT). It is a H"¥Xwn. See NHR Now.
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even if it is a minuscule amount. This concludes the 71wn. The X"aw" states that he

is 271 even though carrying out 1"V is a A"9XNw%n. Thus proving that > maintains
A"9RRWRA is 277,

SUMMARY
We know that °"1 maintains 3"9¥Xwn is 21 either from our 71wy, where the P"n is
presumably > (as he was in the previous 71wn), or from the 71wn regarding 1"v.

THINKING IT OVER
1. What are the relative merits of the different proofs of the *"7 and the X"2aw2?

2. Would 77 "1 maintain that one is 21 for carrying out a minuscule amount of
1"y swnwn, if he is not aware that it is 1"y >wawn?®

8 See "7 NvOIN.
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